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The angle 6 satisfies the equation 2tan’ 6—Ssec6-10=0. where 6 is in the
second quadrant. Find the value of secd .
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The logo, for a company that makes chocolate, is a sector of a circle of radius 2cm, shown
as shaded in the diagram. The area of the logo is 3mem’.

diagram not to scale

)

(a) Find, in radians, the value of the angle 6, as indicated on the diagram.

(b)  Find the total length of the perimeter of the logo.




image8.png
The functions f and g are defined by f(x) = 2x+%, x<R and g(x)=3sinx +4, xR

(a) Show that guf(x):3§in(21+

(b)  Find the range of g o f"

3 3 .
(©) Given that go /| 5+ |=7, find the next value of x, greater than =, for which
gof@=7.
(d) The graph of y=g = f(x) can be obtained by applying four transformations to the graph

of y=sinx. State what the four transformations represent geometrically and give the
order in which they are applied
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[Maximum mark: 6]

The angle 6 lies in the first quadrant and cos 6@

(a) Write down the value of sin.

(b) Find the value of tan26 .

(¢) Find the value of cos[g). giving your answer in the form ‘/b; where a. beZ".
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The function f is defined, for %g,\—gg.by F(x)=2cosx+xsinx.

(a) Determine whether f is even. odd or neither even nor odd.
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The obtuse angle B is such that tan B = 7% . Find the values of

@
©)
©
(@

sinB:
cosB:
sin2B:

cos2B.
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Given that tan26 = % . find the possible values of tan@.
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(a) If sin(x—a)=ksin(x+@) express tanx in terms of kand @ .

(b) Hence find the values of x between 0° and 360° when k :% and o =210°.




